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A 0OO00OOooooooo

#include <stdio.h>
#include <stdlib.h>
#include <math.h>

#define NN 1000
#include "blaswrsp.h"
#include "f2c.h"

#define H(i,j) H[i+j*NN]
#define mass 0.5
#define length 0.5
#define V 1.0

int dgeev_(char *jobvl, char *jobvr, int *n, double *a, int *1lda,
double *wr,double *wl, double *vl, int *1dvl,double *vr,
int *1dvr, double *work, int *lwork, int *info);

main()
{
int i, j, k;
static double H[NN*NN],U[NN];
double g,t;
FILE *datafilel, *datafile2;

char jobvl=’v’;

char jobvr=’v’;

int 1dvr=NN, 1ldv1l=NN, n=NN, 1da=NN, lwork=NN, info;

static double work[NN] [NN}, wr[NN], wil[NN];

static double v1[NN*NN], v1[NN*NN], vright[NN] [NN], vleft[NN] [NN];

printf("g=");
scanf ("%1f",&g) ;
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t=1./(2.*mass*xlength*length) ;

datafilel=fopen("tbm_Energy.dat");
datafile2=fopen("tbm.dat");

/x OO00O000O00000 =/
for( i=0; i<490; i++)

{
U[i]=0.0;
}
for( i=490; i<510; i++)
{
Uli]=-V;
}
for( i=510; i<NN; i++)
{
U[i]=0.0;
}

/0000000000 =/
for( i=0; i<NN; i++)

{
for( j=0; j<NN; i++)
{
if (j==1)
{
HC i, j )=U[i]+2.%t;
}
else if (j==((i-1)+NN)%NN)
{
H( i, j )=-t*cosh(g*length*(i-(NN-1.)/2.))
/cosh(g*length* (j-(NN-1.)/2.));
}
else if (j==((i+1)+NN)%NN )
{

23



H( i, j )=-t*cosh(g*length*(i-(NN-1.)/2.))/
cosh(gxlength* (j-(NN-1.)/2.));

else

H(C i, j )=0.0;

/ 00000000000 0000 %/
dgeev_(&jobvl, &jobvr, &n, H, &lda, wr, wi, vl,
&ldvl, vr, &ldvr, work, &lwork, $info);

/ OO0O0O0O0oog =/
printf ("INFO=%d \n",info);

/* OO0 0O00O0O0OooOogd =/
for( i=0; i<NN ; i++ )

{
fprintf(datafilel," %1f %lf \n", er[i], wil[il);
}
fclose(datafilel);

/* k0000000000 %/
printf ("k=");
scanf ("%d",&k) ;

for( i=0; i<NN ; i++ )
{
for( j=0; j<NN ; j++ )
{
vright [i] [j]=vr [i+j*NN];
vieft[i] [j1=v1[i+j*NN];
}
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for( i=0; i<NN ; i++ )
{
vectorR[i] [k]=pow(vright[i] [k],2.)+pow(vright [i] [k+1],2.);
vectorL[i] [k]=pow(vleft[i] [k],2.)+pow(vlieft[i] [k+1],2.);
}

for( i=0; i<NN ; i++ )
{
fprintf(datafile2," %d %1f \n", i, vectorR[i] [k]);
}

fprintf(datafile2,"&\n");

for( i=0; i<NN ; i++ )
{
fprintf(datafile2," %d %1f \n", i, vectorL[i] [k]);
}
fclose(datafile?2);
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